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Balancing Equations Practice #2
L @l  + 0, — 2ZHO

2. 2Na e Cl;, — <9NaCl

(¥%)

2KCIO; —30, + 2KCI

4. Cu + 2AgNO; — gAg +  Cu(NOs),
5. BHF 4 W . HEN

6. S5HNO; + P — [0, +§NO0, + H,0
7. Piog 4RO - 4P,

8. CHsOH +30, —~ 2C0, + BH0
9. ZN, +50, — 2N,0s

10. CH; +2H, — CyHs

1. GHg + 50, —3C0, +YH0

2. €0, + CHOH — 4CO, +EHO0

13. &St + 2N, —2.StN,

14. 2Cu,S + 20; — 2Cu,0 + 280,

15, MgN, + 3H0 —3Mg0 + INHs

16. CrOH) + NaOH — NaCr0, +21,0
17. 3FeCl, + 2Na;PO; — FeyPOy)y +6NaCl
18. GHCI + 2Al —2AICK + 3H,

19. 2ZH,S0: + C - CO, + 2H;0 + 2SO0,
20,  CaCOs +RHCI - CaCl, + 06; + o

p o |
21. 2Nal + Pb(NO;), — Pbl, +92NaNO,
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22. YNH; +50, — 6H,0 +HNO

23. GCH:OH <+ 30 — zéoz + 31Ji§0
M. BTED s T & O

5. e TN - N+ 3E0 % 3Cn
26. 27ZnS + 30, — 4Zn0 + 2SO

27. Ca(OH), + 2HCI — -CaCl, + 20

28. 92BiCl; + 3H,S — 6HCI + BLS;

o

)

29. Choose the balanced equation Q)q |

k=

&l P O-§ 0-&

A) 2KOH + HySO; — H3O + KjSO04+« |

B) KOH + H,S80; — H;O + K380, - o) - 2 IO

C KOH + H,SO, — OHSOs + KH,~ S
@ 2KOH + H;S0; — 2H,0 + KuSOq oy

30. Choose the balanced equation

A) 2HCI + NaOH — NaCl + H,O~
HClI + NaOH — NaCl + 2 HyO-~
@ HCl] + NaOH — NaCl + H,O -
HClI + 2NaOH — 2NaCl + 2H,O.

31. Which equation is not balanced?

A) 2NO + 0; — 2NO;

B) 2Na + 2H,0 — 2NaOH + H,

(@ H:PO, + 3KOH — Ks;PO; + 3H0
3HBr + Fe(OH): — FeBrs + 6H,0

32. Which equations are balanced?

A CHq + 30, — C02 + 2 Hzo *
@ 4CHs + 130, — 8CO, + 10H,0-—
2 CHy + 20, — 3C0O, + 4H;0-
@' CiHy + 60, — 4C0O, + 4H,O

33. The complete reaction of 8 g of methane (CHa) with 71 g of chlorine gas (C12) produces 73 g
ofhydrochloric acid (HCI) and a certain amount of carbon (C).

The balanced equation for this reaction is as follows:

CHs+2 Clz— € +4.HC]



